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Note: (i) All questions are compulsory. Marks are allotted in front of each question.

oflel:  oel usll sl B, €35 Uslell w110 HIsH slanddim] wlcl B,
(ii) Write your Name, Enrolment Number, Study Centre Name and Subject on the top of the first page of the
answer sheet.
g cllol UAsoll YUH Ulolloll BUR IR olti, slluRl olo1R, WeUR Fosio] ollH wal ([An2d AW

1.Answer any one of the following questions.

o{l Aol SlEURL WS Ystotl ol AW, 2
(a)

i) Find five rational numbers between 3/5 and 4/5.
3/5 ¥\ 4/5 Asfl Uid d5091d w124 Q).

ii) Are the square roots of all positive integer’s irrational? If not, give an example of the square root of a

number that is a rational number. (See Lesson 1)
9] it tot YriSlott cloly o AAESs B2 % ol(F, Al A s Avulstl oy o] GELeRQL AU B A A5l
duall B. (ULS 1 %))

(b) Simplify the following.
{lAcllA AR el

()3 (a*b3) 9x 5 (a%b?)?
(i) (2x =2y 3)3 (UL6 2 %))

2. Answer any one of the following questions. 2
of| Aot [Hiell S1ESURL A5 Ustetl cliod 24N,

(a)

(i) Solve: (5m—=3)/4 + (3m—2)/5=(m +6)/7
G54l : (5m—3)/4+(3m—=2)/5=(m +6)/7

(ii) The sum of two numbers is 82 and their product is 1456, find the two numbers.
o ulell Ha101] 82 B o dUell LS 1456 B, A Juy 124 11 (UL&-3 %))

b) For the polynomial (x3+ 2x + 1)/5 — (7/2) x*—x ©, write

(i) the degree of the polynomial

(ii) the coefficient of x3

(iii) the coefficient of x°

(iv) the constant term (See Lesson 3)

b) SUEL HIS (x3+ 2x + 1)/5 — (7/2) x*— x 6, Guil



(i) wguelell (3ol

(ii) X3 ol 010U

(i)  x®ollojuls

(iv) Al 2oE (U16-3 g dl)

3. Answer any one of the following questions. 2

ol Aot 1Hief] S1EUBRL B)S Uslell o] B,

(a) InFig. 1, lines XY and MN intersect at O. If ZPOY =90°and a: b=2:3, findc.
(3012. 1 1, XY ol MN JuUHAL 0 UR BE B. % LPOY =90° Ul a:b=2: 3, cll ¢ 2.

Figure 1

(UL6-10 Y1)

(b) InFig. 1, £ PQR = £ PRQ, then prove that £ PQS = £ PRT.
(8912. 1 Hi, 2 PQR = £« PRQ U8l Allcd A 5 2 PQS = £ PRT.

Figure, PRQ £ = PQR £, in 6.15 then prove that PRT £ = PQS £
U15(d, PRQ 2 = PQR 2, 6.15 Hi dl AL[4d 51 5 PRT 2 = PQS 2

(UL6-11 %))

4. Answer any one of the following questions in about 100-150 words.

o{l AettHiell SleFuRL As Ystoll AOLELIL 100-150 AGEVHL s clled AW, 4

(a) Find all the angles of a parallelogram if one angle is 80°.

In a rectangle, one diagonal is inclined to one of its sides at 25°. Measure the acute angle between the two
diagonals.

81 A5 BRI 80° Sl ol UMHLARIUHaAL AHIH WRUAL 20L&l

AUARUMUL, A5 s61 Aoll As wllygA 25° UR A 8. A 501 ctAell g gt 1.

(b) Prove that the angle bisectors of a parallelogram form a rectangle.
In a trapezium ABCD, ABJ||CD. Calculate £C and 4D if ZA =55° and 4B = 70° (See Lesson 13
for both)



A(A A 5 ¥ AHIARAUIHoAL 510 [Bew Sl A AHARY HollA B.
2U(BauHHL ABCD, ABIICD. £C e 2D ofl 2RI $A %) £A = 55° U £B = 70°
(Glal HI2 UL 13 %)

5. Answer any one of the following questions. 4
ol Aot 1] 51Ul AS Ulell cllod AN,
(a)
(i) Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

A 5 ¥ ool Aol B E1RAL U s UMIAR B.

(ii) Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger circle  which
touches the smaller circle

A 3t adalell Bowau 5 A 4 3 A B. atlotl adnial 2ugldl Wet adnell 2 altell cloes 0.
(UG 15 )

(@) Inthe figure 3, DE| |AC and DF| | AE. Prove that BF/FE = BE/EC.
w15(d 3 Hi, DE||AC W DF| |AE. A $A % BF / FE = BE / EC.

Figure 3

b) AD and BC are equal perpendiculars to a line segment AB. Show that CD bisects AB.

AD e BC 2 2ULULS AB HIE Aol A Gl B, il 3 €D W AB o *HBeUd 52 B,

Figure 4

(U6 14 %))

6. Prepare any one Project out of the following projects given below

o{13 w0dl VlegseHiell sleuwl ws Wlgse dUlR 3

a) Draw the frequency polygon for the following data



o{l Aot S2t 12 wlelclot tigslaL ERL

CLASS 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90
INTERVAL

4 6 8 10 12 14 7 5
FREQUENCY

b) The blood groups of 30 students of Class VIl are recorded as follows:

2ReL VIII ot 30 [QenelAloll sets YU ol A Yol dlluldcl B.

is the rarest, blood group among these student?

A,B,0,0,AB0O,A 0,B,A0Q,B,AO,O,
A,AB,O,A A 00, AB,B,A O,B,A,B,O.
Represent this data in the form of a frequency distribution table. Which is the most common, and which

Ul 32tal vleldot (ARl slwesell UMl 2% 5.l ([Qaue[RAHT 53 WAl UHIA B, U 53
well gdat, 5 U B?

OR

a) The distance (in km) of 40 engineers from their residence to their place of work were found as follows:

40 AR 2N AHotl Pletuauatdll AMell stlzan Yellof Bid (D) 1A yowat el HeR] od:

5 3
19 10
1 9
12 14

10 20 25 "
12 17 18 1"
T 8 3 5
2 9 6 15

13
32
12
15

T 12 H
17 16 2
15 18 3

T 6 12

Construct a grouped frequency distribution table with class size 5 for the data given above taking the first

interval as 0 — 5 (5 not included). What main features do you observe from this tabular representation?

YUH AUARA 0 — 5 (5 WA olll) 33 AR GUR ML 32l M2 ddl $E 5 AU YAUG

Ulddet [AdRul slwes clotlall, Wl 26JAR 1gAldAHIl AR 58 Yud cAlelBlscdixdle] Mol 5

£91?

b) A survey conducted by an organisation for the cause of illness and death among the women between the
ages 15 — 44 (in years) worldwide, found the following figures (in %) : (Q#ERHL 15 - 44 (ML) ol

cuofl DU ol13] Al YJoll S1RQL U2 A5 UL GIRA Sl URCUHL WAL UL
ollAotl AissA (% H) HoUl O:

S.NO Causes Female fatality rate

1 Yosolol 2elleioll RAA 314

5 EREDIEDTEY: 95 4
yRRA(Q2

3 Bostul 12.4

4 sctall(zell RA(AA 43




5 LR cle{l RAA 41
6 AU 51231 220

(i) Represent the information given above graphically.

GUR A HEAA AulEscll Il 9 53,

(ii) Which condition is the major cause of women’s ill health and death worldwide?
(QaieRul 1B WRL 2L Aol Yfo] Yyl 5101 585 RA(A B2

(iii) Try to find out, with the help of your teacher, any two factors which play major role in the cause in (ii)

above being the major cause.
dHRL el Heeell, GURASA Yyt 51201 (i) ML Yyl ¢St elscldl Slurl A URelellsl

luclloll Yyl 3.



